Hlustration 1

The mean weight of 500 Male siudents in a certain college is 151 Ib and

the 5.D is 15 Ib. Assuming the weights are normally distributed and how
many students weigh.

(a) Between 120 and 155 1b
(b) More than 155 Ib
Solution
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When x = 55, 7z=2"H _ M:

+0.266
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~ P (120<x<1s5) = p (-2.066 < Z < 0266)

~ 0.4803+0.0636 = 0.5439

(b) Plx>155) = 1= P(x<15))

= 1-P(z<0266) [from (a)]

= 1-0.0636
=0.9364
Exercise 1

I. The mean height of 500 female students in a certain college is 160cm and the
SD is 16cm. Assuming that heights are normally distributed, find out how
many students’ height are (a) between 145cm and 165cm (b) More than
163cm. K _

The mean no.of yeast cells in the square is 50 and the SD is 5. Assume that

the no of yeast cells are normally distributed, find how many yeast cells are

in a square (a) between 30 and 70 (b) More than 85.

The Mean concentration of cobalamin in serum is 700 pglml and the S.D is
70 pelml. Assume that the concentration are normally distributed and what
-~ will ge the concentration of cobalamin if it is (a) between 160 and 700 pgiml

(b) less than 800pgiml. |
4. The mean molecular weight of 2 protein in serum is 120KDa and the SD 12
. K Da. Assume that the molecular weight are normally distributed. Find what

will be the molecular weight of the protein if it is distributed between (i) 60 to

140 KDa; (i1) More than 150 KDa.
Exercise 2
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test, the percentage of patients found positive and more
lar disease were 72 and 14 respectively. Estimate the
averace value obtained by the patients if the minimui'n positive value and
advan:ced value being 160mgldl and 300mgldl re?‘pectxvely.

Packets of shampoo are filled wit.h an average weight of 100ml and standard
deviation of 10ml. If the weight of Shampoo pt.iCkClS are nqrmally
distributed. find the percentase of packets having weight above 106.0ml.
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